= AH O
N = 0 &8 AF S & Al A
012U 20A LEHSIH S AN ~ EAIHE Dt
SN AN
I AN
SRl TASEINLAS (e
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
SAOHE 57,350,128 51,089,485 6,260,643
= 9,163,540
z 23,988,000
< 6,100,274
= 18,098,314
S AN 35,549,860 31,928,280 3,621,580
= 2,887,896
= 21,643,000
< 4,424,000
e 6,594,964
S AESEINE ALY 30,996,735 31,200,307 N203,572
z 21,643,000
< 4,424,000
= 4,929,735
CANY X 2,310 2,310 0
201 LBt HH| 2,310 2,310 0
01 AtR2t2|dl 2,310 2,310 0
1) 2 &l 2,310
2)E AN AL =R O &l Y|
7,000 6% x55 2,310
HE - AT JIEZA 1,581,000 10,090,929 A8,509,929
401 Al S HI L E20HH| 1,581,000 10,090,929 A8,509,929
01 Al&HI 1,581,000 10,016, 136 N8,435,136
NHEFAT W JIIEBAMAS-BSC2)
709,500,000 709,500
NHEEHAT W JbA B AH(OHE-XI2t2})
871,500,000 871,500
ANESS I 22 101,925 121,925 220,000
201 Yer2d| 101,925 121,925 £.20,000
02 22294| 101,925 121,925 20,000
Na222=2 2 HMA 55,200
JEEFIRE FHIRB 12,000,000 12,000
)LU2HAXME EIRE MIIL2
100,000 3304 A x12 39,600
2)sraEIIe2 3,600,000 3,600
A& ZHIKRX 46,725
2JENLTIIRE SXIE4Hl 200,000 «26CH 5,200
2)ENZIIZ2S gtdiel B Al 6,301,000 6,301
)L ZIIZS OIHE WM 74,0002 «260H 1,924
QJVUSHEE EIYE S22l
3,300,000 3,300
2)=RIIEX &0 X224l
30,000,000& 30,000
AE=T XA LAY 21,919,000 20,985, 143 933,857
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Off & 2K
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15,643,000
3,138,500
3,137,500

M HY OR

401 Al HI 2 S THY| 20,359,000 20,985, 143 626, 143
14,537,200
2,911,400
2,910,400

HHY o8

01 Al Hl 20,230,360 20,852,937 N622,577
IDE=R= I R=IONES! 10,165,551,000& 10,165,551
7,255,761
1,455,128
1,454,662
1MEI[EAI S 4,642 ,526,000& 4,642,526
3,321,224
660,771
660,531
1) A Al & 4,448,795,000& 4,448,795
3,175,371
636,814
636,610

NASSUAE 973,488,000& 973,488
694,796
139,391
139,301
03 Al € R CHH] 128,640 132,206 A 3,566

NEEEIXNGNL AL 128,640,000 128,640
90,048

19,296
19,296

M H 08 M HY OR M HY 08

M HN OR

M HY OR

402 212201 ™

—_

,560,000 0 1,560,000
,105,800
227,100
227,100

—_

M H OR

01 Bl2tAt= 2 1,560,000 0 1,560,000
& (ea) 1,000,000,000& 1,000,000
713,800
143,100
143,100
g M= X3 560,000

=5 JSAHE,
CHIE3F AR E otz ot
560,000,000& 560,000
392,000
84,000
84,000

M HY o8

M HY OR

eHXb~Abet HEw JHE 7,392,500 0 7,392,500
6,000,000
,285,500
107,000

M HY o8

|
no
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M SAHED
S S M

Sl SNBEINLALY (9l & 2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gl o B2
401 Al EHIL 2O 7,392,500 0 7,392,500
3 6,000,000
= 1,285,500
2 107,000
01 Al&H] 7,372,679 0 7,372,679
1)OHE-Th2t2t I JHA B A
7,372,679,0002 7,372,679
=l 5,985,000
= 1,282,286
2 105,393
03 Al& 2 THEl 19,821 0 19,821
1)OHE-XI2I2t I W T B A 19,821,0002 19,821
=l 15,000
= 3,214
2 1,607
NEBIENE:! 4,553,125 727,973 3,825, 152
= 2,887,896
2 1,665,229
NSO oH= T ALY 3,923,125 689,500 3,233,625
= 2,887,896
2 1,035,229
401 A2 HIL 2O HI 3,923,125 689,500 3,233,625
= 2,887,896
2 1,085,229
01 Al& | 3,923,125 689,500 3,233,625
NE42] 0fE AL 376, 165,000 376, 165
= 250,777
2 125,388
NEATIEE ST 184,645,000 184,645
= 123,007
2 61,548
1)l DA Rl SOHAIM 101,326,000 101,326
= 67,551
s 33,775
1)U MR 46,750,000 46,750
= 31, 167
2 15,583
NEM SHE A2 940,683,000 940,683
= 899,599
2 41,084
1S4 2502 HEE 58,297,000 58,297
= 38,865
2 19,432
NEE NSHEET 638,562,000 638, 562
= 425,708
2 212,854
DENR =N T 163,742,000 163,742
= 109,161




M SAHED

o oAl

SHl X IHE ALY (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ao il ot o =2
= 54,581
U2 JtOIXl BAE2 39,022,000 39,022
2 26,015
2 13,007
YR HEXR SOHAIL 50,493,000 50,493
2 33,662
= 16,831
X 2K SOHAIL 726,541,000 726,541
2 484,361
2 242,180
NEN =22 4RF 130,479,000 130,479
2 86,986
2 43,493
1A HOPE AR 10,102,000 110,102
2 73,401
2 36,701
Netel 2 BEHEF 50,742,000 50,742
2 33,828
2 16,914
1)R01E ES-HE2 ST 44,208,000 44,208
2 29,472
2 14,736
Nalel MEfSel JISHE S 44,694,000 44,694
2 29,796
2 14,898
NEE SC HEY DYHATR 98,374,000 98,374
2 65,583
2 32,791
Aol AEiSe Gere MEF 77,183,000 77,183
2 51,456
= 25,727
1419 DBALE BALE QLM 41,117,000 4,117
2 27,411
2 13,706
A XIS R ALY 630,000 0 630,000
401 AIZHIL 2 0] 630,000 0 630,000
01 Al& 8] 630,000 0 630,000
NAE OISEXNE AlA 20,000,0002 20,000
NXE WSO o2 S=AI& 10,000,009 10,000
YR ZHOIS B2 AL A
20,000,0002 20,000
DY ZADIS HUEZZA 10,000,008 10,000
DU 4 HUTHBA 10,000,000%! 10,000
)EC 2 0ISXYR TEH 20,000,000 20,000
1LEN A0l OISO E& 20,000,002 20,000
NYEH o Ot2oY EE 20,000,0002 20,000
1SEN SHOIS HSAIE bl 10,000,008 10,000
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A CANED
HE: HYBYNE
Erel: HasEBRIXE CEERE
= — PSS
SA B G(E) - NEAY - B Ofl & 04 il ot o HREZ
=== 22 K& 66,300 39,200 27,100
101 21 24| 26,000 26,000 0
04 JIZHNIZ22XRHSE+ 26,000 26,000 0
NEl+STALSTE L M3 I| %))
50,000 »2H 202 1304 A 26,000
201 get2Ad| 34,700 13,200 21,500
01 AR 2 2ldl 8,300 4,800 3,500
1) et 4,800
DS HFTLA W 2
3,500% *200H 700
)l ===& CHHMI M= 4,100,000& 4,100
1)=& 3,500
2)H4+ST LT OHAY|
7,000& *5H 1002 3,500
02 32244 17,400 8,400 9,000
nNa3e= 2 HMAl 8,400
DEi+sTBU ALS 2223
70,000%10H 2=+ 122 8,400
NAIE&HIK X 9,000
Q)l+==F AIE2 |X22ldl 9,000,000 9,000
03 S At2 | 9,000 0 9,000
ARG HI 9,000
)l ==F N A 9,000,000& 9,000
202 ¢4 4| 5,600 0 5,600
01 =2 A bl 5,600 0 5,600
NEl4=T RRANE L &
70,0003 x5 «16& 5,600
HE A5 2HF 6,462,605 6,748,620 A286,015
= 2,365,114
= 2,345,000
= 251,854
= 1,500,637
HESEMNE 6,397,805 6,209,740 188,065
= 2,329,114
= 2,345,000
& 243,214
i 1,480,477
HEAIE HRFA 20,008 19,065 1,033
101 21 24d| 13,658 11,565 2,093
04 JIZtH22HEES 13,658 11,565 2,093
NECAIE & SR 22| ely| 13,658
20123 37,0003 »1H+200& 7,400
2)Jtat 3 7,400,000& *0. 1 740
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SN AN
HH: OF A5 O

e ] cro @ el
N Z3 . CA(ZAH) - MPAY - BES e a4 Hlw &2
T ° - = S = =5 O:H{ﬂ,% Lsa
2)J|L=¢ 7,400,000 1 1/3 2,467
2)AZERl =& 6,5603 x1Z x10A| 2k+10E 656
2)=R3FI= 37,0003 x1H »353 1,295
2) A2 & 110,0002 18 » 10 1,100
201 L EH2FH| 3,080 3,080 0
01 AR 2teld| 3,080 3,080 0
1)=&l 3,080
2)oiotBR P ET T
7,000 x2%H 100 1,400
2)HEAIEE Mot Z 2 AL
7,000 x38 80 1,680
202 od| 3,360 4,420 A 1,060
01 SLHA b 3,360 4,420 A 1,060
1)=W o dl 3,360
2)8w=0H HAE MESIF L Zel0l S A
NN 70,0003 x 1+ 145 H*13] 980
2)Hora| NS HE RN &S AMEfZAL
70,0003 x1H »22 x53| 700
2) X E Al 22| AEHZE AL
70,0003 x2H»7 980
2)=N0E A A B A
70,0003 x1H 10 700
HESEHLAMS ,621,429 2,270,780 A649,351
= , 135,000
& 243,214
[ 243,215
401 Al HIZL 2 0HYBI ,621,429 2,270,780 A649,351
= , 135,000
& 243,214
= 243,215
01 A& HI ,615,591 2,253,949 A 638,358
NOHESTENY ZRIANY HESE)
1,615,591,000 ,615,591
= ,130,914
& 242,338
[ 242,339
03 AI& 2 0HHI 5,838 16,831 A 10,993
NHESEMNLAIG (=X, MOAHSE HESE)
1,621,429,000*0. 36% 5,838
= 4,086
& 876
= 876
HOLAEH| AL 300,000 430,000 A 130,000
= 210,000
[ 90,000
401 Al HIZL 2 0HYI 300,000 430,000 A 130,000

~




SN AN
HH: OF A5 O

Sl =SB (e &2
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off &F K Ofl At ot HusZ
Z 210,000
2 90,000
01 Al&H] 297,840 426,129 ~128,289
1)l E A (SE RSO )
297,840,000 297,840
z 208,488
2 89,352
03 Al & = CHH| 2,160 3,871 AT1,TT
1O EHIA Y (SE RSO T HI)
00,000,000%0.72% 2,160
z 1,512
2 643
KIH01 8121 & A 1,261,600 2,360,600 1,099,000
z 1,000,000
= 261,600
201 YBr2 | 11,600 10,600 1,000
01 AtR 22l 1,600 1,600 0
DEEIRS=E 1,600
2)AZOIE MAZAMM HME 40,0002 405 1,600
02 B2 Y| 10,000 9,000 1,000
NBZRS ¥ MAl 10,000
2)ABOUE MIZA 442 10,000,000 10,000
401 A& HIL2H bl 1,250,000 2,350,000 A1,100,000
z 1,000,000
= 250,000
01 Al&H] 1,242,125 2,335,195 A1,093,070
DAL ALAS (AMRIE SIHAIL)
1,242, 125,000 1,242,125
z 993,700
2 248,425
03 Al & = CHH| 7.875 14,805 6,930
DAL ALAS (AMRIE SIHAIL)
1,250,000,000% +0.63% 7.875
z 6.300
s 1,575
Ol S EHEIITH= P ALY 2,458,420 626,695 1,831,725
2 2,329,114
2 129,306
401 Al & B2 2 CH bl 2,458,420 626,695 1,831,725
2 2,320,114
2 129,306
01 Al&H] 2,458,420 626,695 1,831,725
NS&ARIE KL= 2,070,500, 000 2,070,500
2 2,070,500
EL S8 202,444,000 202, 444
2 134,963




SN
X XH .
S Tt

el

N BT (3H) - MEAIY - B2 A} OH S Ho=2t
c =7 * Nl=Ar'g o= 04| AFOH Lo
= 67,481
NEA Al XgHE 185,476,000 185,476
= 123,651
i 61,825
OH XIS IR AL 736,258 500,000 236,258
401 AlEHIZL 20HY| 736,258 500,000 236,258
01 Al£Hl 736,258 496,400 239,858
NOHAAIEAE HUEX WL (22RX)
236,258,000 14! 236,258
NS AE SAYUIA 2t22H HoAl" A XI(
AHEH) 500,000,000& 500,000
dEolsxd 64,800 538,880 A474,080
= 36,000
< 8,640
= 20,160
EXE0tS MRE 22d K& 64,800 38,880 25,920
= 36,000
== 8,640
= 20,160
307 21zZtol ™ 64,800 38,880 25,920
= 36,000
= 8,640
= 20,160
02 QItF A2 X 64,800 38,880 25,920
NOHEMEDISARE 28] XIJ AL
21,600,000 374 & 64,800
= 36,000
== 8,640
= 20,160
Xl EHLEEHTE 3,451,506 1,510,527 1,940,979
= 1,061,690
= 2,389,816
T2 FA ALY 2,464,471 760,241 1,704,230
= 887,000
= 1,577,471
ZAE JRFA 75,790 5,530 70,260
201 et2Ad| 72,570 2,310 70,260
01 AR 2t eld| 72,570 2,310 70,260
1) et~ 27,660
QJMETM (Ze2E) 2
15,0002 86 2+ 145 H 18,060
2)S0CAHY FZRIHQl SHEE HI&
450,000 *30H 424 5,400
2)dlot S22 & HME 50002 *600H+145H 4,200
1)=& 4,410




M SAHED

HH: NYSRALSTY

ool NPT SABEIALY (S5l &2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- - T - = S = o = 0:”/&,% Wsa
Q)T ZAIEHSZ=E DAY
7,000 *3Hx110 2,310
2)SOC(Z2 = )AFHE =& O AlH|
7,000 %102 303l 2,100
NAUX= 40,500
)2 HAEEY dXS 3CH*500, 000 x27! 40,500
202 044 3,220 3,220 0
01 =L HI 3,220 3,220 0
1) =L HI 3,220
Q)E2=2 L HZ0H0 2 ol
70,0002 x2% %23 3,220
Nz SN2 ArY 139,681 114,711 24,970
101 @1 2| 93,961 93,961 0
04 D12t MZ2Z2NSE = 93,961 93,961 0
NERUNSSTIANH(2E) 9,961
2)J123 9,882,000& 9,882
QNMMEES 79,000& 79
1N2EE @ SHEEZ X2
60,000& x5H x 10 *x23| x 145 ™H 84,000
201 2Et29H| 45,720 20,750 24,970
01 At 2t2| HI 3,720 3,750 A30
1)eet2| 2,820
Q)8 HEZI|I=MAL HIZ 60,000& #4752 2,820
Negag 900
2)TRBBMNOSNG BHLY
50,000 *3H 23| 900
02 2239t 42,000 17,000 25,000
1NE222= 2 HA 42,000
2)HE - AT JI2S ®J|2 30,000,000 30,000
2)HF - HAEW JIRE KX&2IH|
12,000,000 12,000
Helo|BEsRHEIM 1,035,000 133,000 902,000
= 380,000
o 655,000
401 AlEHI L 20| 1,035,000 133,000 902,000
= 380,000
o 655,000
01 Al&H]| 1,028,232 133,000 895,232
NHEI0IESRY HAAS 755,212,000 755,212
= 377,606
o 377,606
NO2I0 B35S JHEALS 273,020,000& 273,020
03 Al&E=20HHI 6,768 0 6,768




SN

X ZH
o=

el

S MOt
BNl =
N2 FA2CALS

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
DNOHE0IESTE A AL 760,000,000%0.63% 4,788
= 2,394
= 2,394
NOE0ES RS ALY
275,000,000& *0.72% 1,980
Az AIMA 1,214,000 507,000 707,000
= 507,000
= 707,000
401 A& HIZ 20HYI 1,214,000 507,000 707,000
= 507,000
= 707,000
01 A& HI 1,214,000 503,806 710,194
NEMN AEETZ 2ZINEAY 1,007,611,000 1,007,611
= 500,611
i 507,000
NEMN AEEZ 2ZINEAY 198,560, 000& 198,560
NEMN AEEZ 2ZINEAIY
1,014,000,000%0.63% 6,389
= 6,389
NEA ABT2 PRINEALY
200,000, 000& *0.72% 1,440
NS EZ2FHIALS 987,035 750,286 236,749
= 174,690
i 812,345
SHEZZIHIALH 725,000 696,400 28,600
401 A& HIZ 20HYI 725,000 696,400 28,600
01 Al Hl 720,432 692,012 28,420
NXE IS, HE2 sHEEZ EXNEH
85,432,000 x 14! 85,432
NASl MM, S S0EER 2RE
90,000,000 *14] 90,000
NEE) Q& T&2 sHECZZ SXFE
45,000,000 14! 45,000
NsHECZEEE L Hi=2FU|
500,000,000& 500,000
03 AI& 2 0HHI 4,568 4,388 180
NsHEZZ2 HUIAIS 725,000,000 *0.63% 4,568
EHE L= A 262,035 0 262,035
= 174,690
i 87,345
401 Al HIZL 2 0HYI 262,035 0 262,035
= 174,690
= 87,345
01 Al &l 260, 148 0 260, 148
NXz2del &2 260, 148,000 260, 148
= 172,803

_11_




M SAHED
M NgezALsnd
&2 N2 HEIALE

_ _ _ N E
SN EB -GS - MBAY - BES 0 & 24 o HRE2
= 87,345
03 Al& 2 ChH] 1,887 0 1,887
NIEZHE2 262,035,000%0.72% 1,887
2 1,887
LES WEDE M A 11,806,357 0,486,998 1,319,359
= 2,848,840
= 1,424,420
= 7,533,007
HEB B4 HELSY 75 4,337,982 3,725,033 612,949
DEHY YR 35,630 37,590 A1,960
201 YEr2gy| 17,360 17,360 0
01 At 22| t] 17,360 17,360 0
DEEL] 17,360
2012l OFA2E =X OHAL]
7,002 %4 *302 840
p)Res SH2Y =X HAY
7,0002! *4% +302 840
2)MSOI R FE OHAIHI
7,000%! #42§x302 840
DMYE U DNE ALHE 23
7,00024 +862 +52 x23] 6,020
)M U DNE HLHE +3
7,00021 +86% x5 x23] 6,020
DIHAZYRIZE OHAHI  7,000%+52+802 2,800
202 04t 18,270 20,230 A1,960
01 20l bl 18,270 20,230 A1,960
DENIL] 18,270
2)BYHA =X 70,0002 x28 x203] 2,800
2)0i1A OIASY ETFH
70,0002 383 * 1231 2,520
2)THAX BN 70,0002+ 12 143] 980
D)EHeAHINY A
70,0002 x283 123 1,680
2)012s SUNIR AAL HA
70,0002 %2 +73] 980
2)MSUHHAMO =& 70,0009 +2Y 83l 1,120
2)YE U INE ALY SBas =3
70,0002 9% 1331 8,190
MYE ISR REH M 2,285,000 2,000,000 285,000
307 2I2H0| 2,285,000 2,000,000 285,000
09 24AHNSEZ 2,285,000 2,000,000 285,000
NALBRNER SEHX-2H X3
2,285,000,000! 2,285,000
HAZYR =& 1,710,312 1,564,523 145,789
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SH AN
M AEE HEDE M HA
ol HES B4 HEDEY 725 (=CRE
_ _ pSNE e
A -3 -H2A(SH) - HEAMY - BES O AF K oﬁ&iﬁ HwsZ
101 1248l 5,730 0 5,730
04 JIZH2RISE S 5,730 0 5,730
1AM HEIE THHA SHIN FLY2LS
5,730,000 5,730
201 LBt S| 244,953 243,013 1,940
01 AL 2r2lHl 14,000 17,100 A3,100
DETETE =1 4,000
)2 AT 1,000, 00024 *4CH 4,000
Negay 5,200
2)BYMA 2YHOIS BHLY
100, 00021 23| x26% 5,200
)2 4,800
2)2UMA XD LMAEER
400,0002 122 4,800
02 22| 230,953 225,913 5,040
Z2RILHA 160,607
2)KHS XA 241,040 2 *26CH 6,268
2)EEE 5,852, 6152 *26C} 152,168
2)BAME 2L 83,4702 *26(H 2,171
1) XHes & | 65,306
2)XEHISXLADE  2,839,3502 23 65,306
DN2YHA ASOILUAMAE AS222
18000024 28LH 5,040
206 T 2| 28,575 0 28,575
01 HZHI 28,575 0 28,575
NZYHAL20IEX DEI}E ME
2,250 %12, 7002 28,575
307 212+0| A 951,054 843,400 107,654
02 BIAAMBE 951,054 843,400 107,654
ZAHA SEIIAL 0124H] X2
782,100, 0002 782,100
NZLHA STIIA SXEOIE K|
1,250,000 2 *33¢4 41,250
NBYHA SHIIA 4H2ER N
1,406,250 2 *33¢4 46,407
NBYWA SHIIAL EIEZ 1,900,008 %27 51,300
N2FIIAL HET 2YES 60,6008 +152+33% 29,997
402 DIZHR 20| & 480,000 478,110 1,890
01 PR ELE 480,000 478,110 1,890
NZYHA SEM X2 16,000,000 *30CH 480,000
HANE ZEHA £20] 2 2,920 2,920 0
301 LA 2,920 2,920 0
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SN ENNLD
HH: 2B (1ZDS MH NS
Cel: HEE B4 ENSEY P (e e
- _ _ P NE e
SN SA(BA) - MEAD - BES Off &+ o4 Ol AF ot HnE2
09 SUZRRALZYS 2,920 2,920 0
NEAZLLADAS 2,920
2)20 97,5008 * 12 x 128 1,170
2)S Al 5,0003 »1H #250 1,250
2) S 2,0003 x 18 #250 500
HEns Wy 1 304, 120 120,000 184,120
307 g12t0l ™ 249,120 120,000 129,120
02 QI2tFAEX 109,920 0 109,920
OIS EAl 280l T2 X2
458,000 x200H A+ 128 109,920
09 2+=FHEXS 139,200 120,000 19,200
NsHEHA THEXE 1,100,000 «60H 128 79,200
NHASSH X 60,000, 0003 14 60,000
402 212+ A= 01 & 55,000 0 55,000
01 g2 EEx 55,000 0 55,000
NELE Al 22X BX2 55,000,000 14! 55,000
oial wsSHA ML 7,420,990 6,714,080 706,910
= 2,848,840
s 1,424,420
= 3,147,730
AN of22E X=X 1,251,160 1,002, 160 249,000
201 LEr2 | 1,160 2,160 A1,000
01 At 22l 1,160 2,160 A 1,000
ek~ 1,160
)0 ML OF2E QISR 1,160
3)EAH 5,000& «500H 23! 500
3)8 =5t 40,000& 142 560
J)EALAIECHHE 200 25001 23! 100
307 2I2+0l & 1,250,000 1,000,000 250,000
02 YA BHE X 1,250,000 1,000,000 250,000
NOIUA oftes 2x3 X
1,250,000,000& 1,250,000
e 84 =H 22 1,600 1,600 0
201 et 1,600 1,600 0
01 At 22l 1,600 1,600 0
1)ek=ZH] 1,600
)28 sE2SNA 40,0003 x2& *20X 1,600
A2 8 T 234l N& 470,550 0 470,550
307 212+01 ™ 11,500 0 11,500
02 B LB X 11,500 0 11,500
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SH: AN
Yo sy (EDS MH NS
CHolt oA DEMA M (e e
. - o e =
A - EFH - HA(SA) - NEAMY - BES Off & 2K Ol AF o8 HusZ
NEMHAREEHE Y 50,0008 *23% 11,500
402 RIHXH2 01 459,050 0 459,050
01 BB E 459,050 0 459,050
NMed SYEd 29 X
17,870,000 x23% 411,010
NS +2lbl N 3,420,0002 12 41,040
DHIZ X SH0IH L6 X e
7,000, 0002 * 1 7,000
HxoloAL 2K & 5,697,680 5,490,320 207,360
=2 2,848,840
= 1,424,420
2 1,424,420
307 £12+0| & 5,697,680 5,490,320 207,360
2 2,848,840
= 1,424,420
2 1,424,420
02 B2t AR X 5,697,680 5,490,320 207,360
B0 2 X  5,697,680,0008 & 5,697,680
2 2,848,840
= 1,424,420
2 1,424,420
DEAD B0 =W 25,425 25,925 A500
DE(AZ)AD BN AHAILE S 10,700 11,200 500
201 YLetE | 10,700 11,200 500
01 AL 22/ bl 1,000 1,500 A500
1) Bt 2| 1,000
2)WEHHAILS(LYE CC-TV) 24
1,000,0002 1,000
02 2zl 9,700 9,700 0
NZZ22 2 MAl 5,900
WEHHAILE HI|23
8, 7702 x380H 2 +122 4,000
2ASSHIIHHEE 242
50,0008 53824 2 1,900
1AIEZH Rt 3,800
2)Y2S 100,000 x287H A 2,800
2)2¥S 100,000 107H 2 1,000
DEQHAMO! A Al 14,725 14,725 0
201 Lpr2 A 14,725 14,725 0
01 AFR 221 H| 10,560 10,560 0
DEIEIRE= 10,560
2)8 40t ME & 60,0002 153 900
2)DEAD Ky S22 HME 98,0008 +55 490
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